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.. . . .up . Olee " ". ..' , . ..' .. .... , .. 
. Identify'th(!choice that best completes the.statemeTII or answernhequestio.n.< .., . 

: ,; 

-" 1.. Marcus hikes at arat~of2 mIles perhour. Ifhehlk~s fo~'6~ho~: how many miles will he hike? , -, . " . ..... ~ 	 . 

a. ,8t rrules, '. 	 '. "c.' l:;.!.~ miles .' 
'. ..3. ,:' . 

b. . 12~'miles 	 . d.16 miles' .' 
. . 
J'., __ , 2 .. Find the differ~ce.. 

'. 1 .. 3' .' 
122' -2JO " 

10.!. a. 5' 

. b .. 11 

, 	 .. 3.' Ifybu ;cantypeI2lf~~rdsin40m~ut~; then howmanywo~dsper'minutecan you type?,- ­
a. 180 wordslinm' , . ·c.'27 words/min . ' 
b. ,31 words/~in 	 d.. :9wordslmin·"· .. 

4. Harriet paid $349.QS f~r 6'~i~~~~'.tr~~~h';~fili~i;i~s·-d~·th~;s~e.wbat is ili.e co:rt for one tr~? 

.~: .. ~:~".·~T~}~F~.~;~~~:'·2~~j~t~=,~::,,=~ .'. ... 	 . 

'. 5: You can get 456-~;i6ri~~:·fr~meatfug6'~pPi~s.':FIoW·fui+iY-6hlories·can you g!:t frome;:,ting 1 apple? ' 

a.' 78, calories per'apple . .: .. :;,.:~...J7·cal6ries per apple . . ' . 
. b. 79 caioriesperapple . . . . d .. 16 caiorie~ per appl~ . 

6.. Ga.ry·smotorcyclecan~~el 30ismiles on 45 gallons ofgaSoline. Wnat is the number ofmiies ~ganon? 
a. 65' 	 , . c. 66.9' . . ..;< ',' . . 

b. 67 	 d.75.4 
.,,' ~.,.,-.~-"~,-, , 

., "7. 	 Tina and N oly wanted to see whose. car gets .better gas niileage~ so they each drove 220 miIe~-and recorded 
bow much gas they used. Use the bar graph to findhow'manymiles per gallon ,each person:scargets. Round· 
your answers to t'le nearest tenth. . , .' . 
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. a .. :rina'sciru-:22Q mil~at MolY'i.car: 110inilgaL .' 
h. Tina's car:24milgaL Noly's'c~~ 13niilgal. 
c. Tina's car: 22 milgal.NolY·s 'car~'l,r inil~ai., 
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··12 .. Which value would complete the table to make'thereiatiollshipbetween the tWo quantities propoi1:i91 
x J' 
1···· 22.6 
2 45.2 

. 3 ? 
4 90.4 
5 113 

a.. 56.5 
b, '.. 9004. 
c .•. 67.8 .. 


'. d. ·45.2.
'J .. 
i 	 . 13,' If' the sales tax is 8.5%, about how much will an $89.95 pair of sneakers cost, including sales tax?·
1 a.$80 .". c.$95 . 

b. $90' 	 d, $100 

__ . 14. JIllltl'S purchase bef~re sales tax was added t9taled $46.00. The total iIicludingtax was $48:76,. "'hat w 
.' sides tax rate?' .' '. . 
a,2~76% c.. 6.0% . 

.b: 5.7% '. d. 8.0% 

15. If the price of gold wentfrom $460 an ounce to $483 anpuncemone.week,what was the percent change 
~~~~. . . 	 '. . 

"e.. . 4.8% increase 	 c. '. 5% increaSe 
b. 	 .4.8% decrease . d. . 5% decrease 

16. 	 Nicole deposited $2,000 at 6% simple interest. How long will it be before she has $2.~'tOin her acc~unt? .a. A yr' . c. 6 yr . . 

b. 5 )"T 	 . . d. 7 yr 
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